“*THIS ITEM HAS BEEN DIGITALLY SIGNED AND SEALED BY MICHAEL J. WOJTUNIAK, P.E. FOR ONE SITE SPECIFIC PROJECT ONLY. PRINTED COPIES OF THIS DOCUMENT ARE NOT CONSIDERED SIGNED AND SEALED

AND THE SIGNATURE MUST BE VERIFIED ON ANY ELECTRONIC COPIES. UNLESS THE RAISED SEAL HAS BEEN UTILIZED. ***

6X25716GA

BRACED ROOF PURLIN
FASTENED TO BAR JOIST

6X257216GA
BRACED ROOF PURLIN

OVERALL REVISION DATE

8. ALL WINDOWS AND MAN DOORS MAY USE 1/4"X1" LONG

AND BEARING TAB W/ FASTENED TO BAR JOIST 24, MAY 7, 2020
(2) #12-14 X 1-1/4" TEK SCREWS AND BEARING TAB W/ o 2
(2) #12-14 X 1-1/4" TEK SCREWS = s | ‘o
_ _ QJ o ALL BAR JOISTS PAINTED
=2 = 29 GA METAL ROOFING : W/ RED FLAT EPOXY PRIMER
FASTEN TO STEEL PURLINS =7
L PER SPECIFICATIONS ,
1'51/4"
OVERHANG VARIES
J STEEL BEARING PAD
2" SQUARE 14 GA TAB WELDED 3 WELDED TO END ANGLE
gz%ﬁdﬁlgﬁg o 1o M 6" 16 GA EAVE STRUT FASTENED
= ' W/ #14 X 1-1/4" TEK SCREWS
> \
g = (4) 1/2" X 1-1/4" BOLT, 2 .
9 WASHER AND NUT ASSMY 2" X 2" X 3/16" STEEL ANGLE
oY o EVENLY SPACED FASTEN TOP AND BOTTOM CORD —s
B TO UNYIELDING TORQUE
(OF== o . 1" X 1" X 1/8" STEEL ANGLE —— (2) 1/2" X 8" THROUGH BOLT, NUT
Og 2" X 2" X 3/16" STEEL ANGLE WEBS AND WASHER ASSEMBLY INTO POST
x> BOTTOM CORD BRACING OR (3) 1/2" x 4" LAG BOLTS AND WASHER
gg WELDED TO BAR JOIST ASSEMBLY
- g g g g : s, i[5 o . . : . . s i g,
o~ o < =
& E % E % E % E % h) % © % © © g 9 % 9 Eg A % A % A Eg A g = é%é TYPICAL BAR JOIST SIZES 6X6X 3/16 STEEL POSTS
1T} N — — — | |w —| [ —||w — | [t —||w = \ N —
> || wl||<Z 0| < 0| < N N ™~ Q Q ) 9) ) O > ~00 I BAR JOIST UP TO 14' SHALL HAVE 12" JOIST. %
3 = S| o | ~ || < || ollg 2l e 3|2 NI B |2 bl Z o2 oS Stets! MAXIMUM WIDTH 65 BAR JOIST UP TO 50' SHALL HAVE 18" JOIST. S [ roueH oL oron
- ; x > = : o SIS N N NI | |S NI NS NI BAR JOIST GREATER THAN 50' SHALL HAVE Y .
o |E ’ ’ ’ ’ ) I : : : : : : S 231 |Tmomam o
O [ — (D O_ 1 n
< = = =& | BOLTS, FLAT WASHER AND
& = 40' 0" SHOWN 65' 0"MAXIMUM SPAN O Zoo | NUTASSMY.
e = SPANS GREATER THAN 40' REQUIRE o
9 ADDITIONAL ENGINEERING 3.2
— - ENGINEER TO SPECIFY BAR JOIST 55
g - WIDTH AND POLE TYPE e
& = NATURAL GROUND O
< (©)
=z |2 = = \
s =2 ) R K
= = |
é < \ : | TYP POLE BARN CONSTRUCTION
o é — STEEL BAR JOIST POSITION : | SHOWN MIN POST EMBEDMENT DEPTH
b S FASTENED TO COLUMNS 3 | IS 48" ALL POSTS MUST BE SECURED W/ CONC
PER DESIGN K R PER ENGINEERS DIRECTION OR DETAILS
> WIDTH BASED ON SIZE B PO LE BAR N S E( TlO N Vl EW WIDTH BASED ON SIZE
< SEE DETAIL K AND H THIS SHEET SEE DETAIL K AND H THIS SHEET
)
A . n_11 AN
3 S-1 / SCALE: 1/4'=1'0
e
8< Z PURLIN
==
Qo
o) =
0
35,
=20
Z=5 ZPURLIN
&
KOO
(6)#14X 1-1/4" TEK SCREWS AT ALL OVERLAPS
/ﬁ (4) 3/8" X 3/4" BOLTS, FLAT WASHER NUT ASSMY
AS AN ALTERNATIVE MAY BE USED WITH THE
PRE-PUNCHED FACTORY HOLES
A
K STEEL BAR JOIST POSITION w '
FASTENED TO COLUMINS
PER DESIGN
65I OII
MAX
\Sy SCALE: 1/4'=1-0"
0.25" PRE-DRILLED
T SCREms o
2" "
b /BT
2)12-14 X 1-1/4" 40
Bk SErews ok 14 GA ANGLE j \ \ L
SHOP WELDED cLp Ny N ]
TO BAR JOIST \’ \ \ . [ ]
I =
P ERERSEE | |
| S L Y 5 | |
L= : | < |
- | L —— —— //" | / 18" OVERHANG ON EAVES
| | | | 18" OVERHANG ON EAVES —| P 9
| | | | | COMPONENTS AND CLADDING (exp=C, gcpi=0.00 (Open))
L . . 2 | 40'x 80 x 12 | 6% 2.57 16 GA PRESSURE (PSF)
2'— 2 4/12 PITCH ; VELOCITY ZONE
| POLE BARN | PASTENED T BAR SOST ULTIVATE ROOF WALLS
| AND BEARING TAB W/ 1 2 3 25 AVG NORMAL | 275 AVG PARALLEL
3 g | H . | 6"Z PURLIN (2) #14 X 1-1/4" TEK SCREWS T40MPH | -17.4 -47.8 -54.3 +18.4 25,1 +18.4 -25.1
m PURI_'N CI_lP | | (2) #14 X 1-1/4" TEK SCREWS 150 MPH | -19.9 -54.9 -62.3 +21.2 289 | +21.2 -28.9
5 = 160 MPH | -22.7 -62.4 -70.9 +24.1 328 | +24.1 -32.8
N
w SCALE: NTS (2) #14 X 1-1/4" TEK SCREWS ——————— &\ £ '/ GENERAL NO.I.ES COMPONENTS AND CLADDING (exp=C, gcpi=+/-0.18 (Enclosed))
BERSAAN —————— — == — PRESSURE (PSF)
. N h = VELOCITY ZONE
NOTE; —— \ /, ?ﬂ o ULTIMATE ROOF WALLS
INSTEAD OF TEKS 3/8" BOLTS WITH WASHER AND w T 2 3 775 AVG NORMAL 75 AVG PARALLEL
NUTS MAY BE SUBSTITUTED. 5 []12(;(;)5 STEEL ANGLE | 5'X 1.5 STEEL ANGLE 1. ALL CONCRETE WORK SHALL BE 3,000 P.S.I. AT 28 DAYS. 140 MPH | -21.3 517 -58.2 +22.1 28.7 4221 .08.7
\ \ STEEL BAR JOIST 3. ALL CONSTRUCTION SHALL BE PROVIDED IN ACCORDANCE o | 273 E o0 59 | 54 250 | 574
| L d MIDDLE JOISTS ONLY N WITH THE FLA. BLDG. CODE 2017 6TH EDITION AND ASCE o T 502 R e o e 3 e
B N 7-10 WIND CODES FOR AN ULTIMATE WIND SPEED OF 140 MPH AND GREATER. it e it o o AR o
- = THESE PLANS INCLUDE DESIGN FOR ALL WIND COMPONENTS AND CLADDING (exp=C, gopi=+/-0.55 (Partially Enclosed))
24" OVERHANG v A SPEEDS UP TO AND INCLUDING 160 MPH ULTIMATE WIND SPEED. PRESSURE (PSF)
&N CABLE ENDS 3/8" X 3/4" BOLT, WASHER AND NUT
ASSMY FASTENED TO 2" WELDED TAB 3/8" X 3/4" BOLT, WASHER AND NUT 4, ALL SIDING AND ROOFING TO MINIMUM OF 29 GAUGE VELOCITY o ZONE AL
ON BAR JOIST ASSMY FASTENED TO 2" WELDED TAB ATTACHED TO THE COLUMNS AS SHOWN AND CONSIDERED TO 1 . 5 TS AV NORWIAL 75 VG PARALTED
m SITE SPECIFIC 5 " MISRZONE LOCATIONS SEE FBC FIGURE 1 609(c). THE S A R A A AL LA LA B
. CJ.
. 150 MPH | -33.7 -68.6 761 +34.7 421 | +34.7 -42.1
S-] SCALE: NTS A S El BARCING SHALL BE ADDED TO AL INTERMEDIATE BAR JOISTS. VALUE OF "a" SHALL BE 3-0". FOR ZONE LOADING SEE 160 MPH | -38.3 780 865 | 1394 | 479 | +304 | 479
2. ATLEAST TWO BRACES SHALL BE ADDED TO EACH HALF OF THE BAR COMPONENTS AND CLADDING LOADING CHARTS THIS SHEET.
JOISTS, 8 FEET ON CENTER. 6 DES'GN LOADINGS
DEAD LOAD = 8 PSF
/F\ BRACING DETAL
< < WIND LOAD = PER TABLE
N-8" X 8" PT POST N-8" X 8" PT POST SCALE' NTS 7. DOOR AND WINDOW DATA: SEE TABLE THIS SHEET.
NATURAL GROUND OR 6" X 6" PT POSTS NATURAL GROUND OR 6" X 6" PT POSTS S- ] )

7,

R

BACKEFILL HOLE W/ CLEAN ;
COMPACTED SOIL
ABOVE CONC

X

6" MIN

STRENGTH
CONC OR STRONGER

\\//\\////\\ O I RO

< i//’ R S O
3,000 PSI COMPRESSIVE = =

— 12" #5 BAR THROUGH PT POST
15" ABOVE BOTTOM OF POST

' STEEL POSTS SHALL HAVE WELDED

O  BARS ATTACHED

) ~ BACKFILL HOLE W/ CLEAN
gl COMPACTED SOIL ABOVE CONC

0

/K™ ALL POLE MOUNTING DETAIL

©  BARS ATTACHED
<

B P T STRENGTH
o 6" ABOVE BOTTOM OF POST
N #  STEEL POSTS SHALL HAVE WELDED
BARS ATTACHED

K S-1 / SCALE: NTS

el l 3,000 PS| COMPRESSIVE — RO
-

— 18"MIN. ——

36"

18" #5 BAR THROUGH PT POST

6" ABOVE BOTTOM OF POST
STEEL POSTS SHALL HAVE WELDED
BARS ATTACHED

/"H™\ ALL POLE MOUNTING DETAIL

( FOR UP TO 30' WIDE) S-1 / SCALE: NTS

( FOR GREATER THAN 30" WIDE)

— 18" #5 BAR THROUGH PT POST
15" ABOVE BOTTOM OF POST
STEEL POSTS SHALL HAVE WELDED

3,000 PS| CONC W/
FIBER MESH REINF. OR
(1) #5 BAR NORMAL 6X6 WWM
EVERY 72" (TYP.)
A T
(2) #5 BARS CONT ———__| ) T A TUMI R SR
MAINTAIN 3" COVER o R SN U A T
' ‘V“.vivv' S v v A v
U A "";'\7./
% NSRS
" B3 RS \
ey
R 6 MIL VAPOR BARRIER

— 4 —

OVER TERMITE TREATED SOIL

CONCRETE NOTE: 16"

1. THIS DETAIL IS APPLICABLE FOR SECTIONS UP TO 40 FEET WIDE. FOR GREATER WIDTHS OR
AT THE DISCRESSION OF THE ENGINEER (3) CONTINUOUS BARS SHALL BE USED.

/G OPTIONAL CONCRETE FOUNDATION

w SCALE: NTS

TEK SCREWS IN LIEU OF THE WOOD SCREWS WHEN
CONNECTING THE UNITS TO METAL FRAME. FOLLOW THE
MANUFACTURERS SPECIFICATIONS FOR LOCATING CONNECTORS.
9. TYPE OF CONSTRUCTION TYPE II-B
BUILDING CATEGORY (1)
10.  ADDITIONAL BRACES REQUIRED ONLY REQUIRED WITH WIND SPEEDS
GREATER THAN OR EQUAL TO 150 MPH OR AS CALLED OUT ON PLANS.
11.  ALL WELDS ARE CONTINUOUS WELDS DONE AT THE FACTORY.

PERMITTING

PLANNING

REVISIONS:

DESCRIPTION

BY

DATE

DESCRIPTION

DATE

ENGINEERING

ENGINEERED PERMITS, INC.
311 SOUTH WOODLAND BIVD.
SUITE A

DELAND, FL 32720

PHONE: 386-734-0830

FAX: 386-734-8226

CERT NO. 26298

EMAIL: epi@epieng.net

Miq
Wa

Digitally s}
Wojtunial
DN: c=US
ou=A014
00001CE!

Wojtunial
Date: 202

&=
(@)
T
2 | =
Ll
o o=
o = m
= o Ly
@) <
— m <t
w . (e
) O
O L <|7)
O & =
N 55
< o
—1 S
O
2|
. =
& —
Ll —
- Lil
O Ll
(o' I
(. D
s wi
haelJ | o
. . N
jtuniak (= %
Z &
ned by Michael J E %
" = ®
=Unaffiliated, O («B
C0000016B412E1DEF 2
cn=Michael J ; < g
137
.10.05 15:15:29 -04'00' Ll S =
< O E
T
ShE:
=a

EE
METALS

DESIGN STATEMENT:

THESE PLANS WERE DESIGNED FOLLOWING THE 2017 6TH EDITION
FLORIDA BUILDING CODE AND ASCE 7-10.INCLUDING CHAPTER 16 ON
STRUCTURAL DESIGN. THIS STRUCTURE HAS BEEN DESIGNED WITH AN
MINIMUM ULTIMATE WIND SPEED OF 140 MPH,

(3 SECOND GUST) IN WIND EXPOSURE CATEGORY "C". THIS STRUCTURE
HAS BEEN DESIGNED AS RISK CATEGORY II. THE COMPONENTS AND CLADDING
WERE DESIGNED BASED THE INCLUDED TABLE DESIGN PRESSURES.

SHEET NO.

o-1

DATE: 5-7-2020

10/5/2020 3:14:41 PM M:\Reeds Metals Inc\Steel Bar Joist Structure\JC Lazo\JC Lazo steelbar joistlc 2017 Code.dgn

“*THIS ITEM HAS BEEN DIGITALLY SIGNED AND SEALED BY MICHAEL J. WOJTUNIAK, P.E. FOR ONE SITE SPECIFIC PROJECT ONLY. PRINTED COPIES OF THIS DOCUMENT ARE NOT CONSIDERED SIGNED AND SEALED

AND THE SIGNATURE MUST BE VERIFIED ON ANY ELECTRONIC COPIES. UNLESS THE RAISED SEAL HAS BEEN UTILIZED. ***


Mike
New Stamp


		2020-10-05T15:15:29-0400
	Michael J Wojtuniak




